Teknik

www.teknikoffice.co.uk

—— — — — e
e ——
s A
e e e s e
_—
—_—
————
’ |

Congratulations. You
arenowanadult.

Elstree 2 Drawer Lateral Filer

Model 5426908



http://www.teknikoffice.co.uk/

Table of Contents Assembly Tools Required

Part Identification 3
No. 2 Phillips Screwdriver
Hardware Identification 4-5 Tip Shown Actual Size

Assembly Steps 6-29
. Hammer

Frangais 30-34 .

~ L Not actual size @
Espafol 35-39
Safet 40-42

! C_ (@) Adjustable Wrench
Warranty 43

Page 2



Part Identification

Now you know [y

our ABCs.
8 [cC]

4 Whilenotall parts are labeled, some of the parts will have a label or aninked letter on the edge
tohelpdistinguishsimilar parts fromeach other. Use this part identification to helpidentify similar parts.

A RIGHTEND(1) D551  LEFT DRAWER SIDE (2) G
B LEFTEND (1) D552  DRAWER BACK (2) H
C TOP(1) D985 DRAWERBOTTOM (2) J
D  BOTTOM (1) E  LARGEBASE(2) K

D550 RIGHT DRAWER SIDE (2) F  SMALLBASE(2) M67

BACK (2)

LARGE DRAWER FRONT (1)
BALLAST (1)
SMALLDRAWERFRONT (1)
DRAWER BRACE (2)

Page3



Hardware Identification

(EXTENSION SET SHOWN SEPARATED)

XTENSION RAIL-4 @XTEN5|ONSL|DE-4 SLIDECAM-4 FILEGLIDE-4

FILEROD -4 SMALLFILE FILEBAR-4 @ HIDDEN CAM - 6
BRACKET - 2

@ WOODDOWEL-4 TWIST-LOCK® FASTENER - 12 METALBRACKET -6

@ CORNER BRACKET - 4 INTERLOCK MECHANISM- 1 @ LARGE FILE DRAWER
BRACKET - 2 ACTUATOR-2

PULL-2

Q




Hardware Identification

a  Screws are shown actual size. You may receive extra hardware with your unit.

BLACK 9/16" LARGE HEAD SCREW - 48 @ GOLD5/16" FLATHEAD SCREW - 16

@ [ ®

BROWN 7/16" LARGE HEAD SCREW - 4 BLACK1-1/8"PANHEAD SCREW-4

@ [ @ |

@ BLACK 1/2" FLAT HEAD SCREW - 6 BLACK1-9/16" FLATHEAD SCREW-10

@ Do

@ BLACK 9/16" PAN HEAD SCREW - 3

@ (e

Page 5



Hardware Usage Guide

HOW TO USE ATWIST-LOCK® FASTENER

L Push a TWIST-LOCK® FASTENER 2, 1. Insert the dowel end of the FASTENER into the
into the large hole inthe part. hole of the adjoining part.
NOTE: Thedowelend ofthe FASTENER must

remain fully inserted in the hole of the adjoining
part while locking the FASTENER.

2. Tighten the FASTENER with a Phillips
screwdriver as tight as possible.

) ¢—— Dowel end

HOWTOUSEAHIDDEN CAM &CAMDOWEL 2

* Insertthe metalend ofthe CAM
DOWELintothe HIDDEN CAM.

Cam Dowel
. y

L. pushaHIDDEN CAMinto

Metal end
the part. The arrow in the
HIDDENCAMmustpoint
. toward the hole in the edge
Hidden Cam ofthe board.
3.
A Caution Start Tighten
Risk of damage or
injury. HIDDEN CAMS Arrow
must be completely )
tightened. HIDDEN Maximum
CAMS thatarenot = 210degrees
completely tightened
may loosen, and parts — N S
may separate. To Minimum
completely tighten: 190 degrees

Page 6



Step 1

o Assembleyourunitonacarpetedfloororontheempty
d  carton toavoid scratching your unitor the floor.
Some assembly
5 To begin assembly, push four SAUDER TWIST-LOCK® m (and snacks) required.
FASTENERS (36F)intothelarge holesinthe ENDS (Aand B).

Do not tighten the TWIST-LOCK® FASTENERS in this step.

Pagel



Step2

Separate the EXTENSION SLIDES (35MC) from the EXTENSION RAILS (35MA) as shown in the upper diagram below. Be

a prepared, thepartsaregreasy.

o Fastenthe EXTENSIONRAILS (35MA)tothe ENDS (AandB). Use eight GOLD 5/16" FLATHEAD SCREWS (3S)

a throughholes#land#3.

o NOTE: For each EXTENSION RAIL, turn a SCREW into the hole shown in the enlarged diagram. Then, slide the inner

a cartridge of the EXTENSION RAIL in tofind the other hole that lines up with the hole in the END. Turna SCREW into
this hole.

4 NOTE: The EXTENSION SLIDES (35MC) will be used later for the DRAWERS.

Pushtheblackleverinand pullthe SLIDE fromtheRAIL.

Open end

Open end

Ol RO

GOLD 5/16" FLAT HEAD SCREW
(8 used for the RAILS)

Page 2



Step 3

Fastenthe INTERLOCKMECHANISM (34G) tothe RIGHTEND (A).
UsethreeBLACK9/16"PANHEAD SCREWS (515S).

Qo

Fastenthe L - LOCK BRACKET (76G) tothe RIGHT END (A). Use
two BLACK 9/16" LARGE HEAD SCREWS (1S).

Qo

BLACK 9/16" PANHEAD SCREW 4:

(3 used in this step)

BLACK 9/16"LARGE HEAD SCREW
(2 used in this step)

Page3



Step4

o Tobegin assembly, push eight SAUDER TWIST-LOCK®
FASTENERS (36F)intothelarge holesinthe BACKS (G).

Do not tighten the TWIST-LOCK® FASTENERS in this step.

Page 10



Step 5

o FastentheRIGHTEND (A)tothe BACKS(G).Tightenfour
TWIST-LOCK®FASTENERS.

Open end

Unfinished edge

Unfinished edge

Page5



Step

o Push four HIDDEN CAMS (1F) into the BOTTOM (D). Then,
insertthe metalend ofa CAM DOWEL (2F) intoeach
HIDDEN CAM.

Do not tighten the HIDDEN CAMS in this step.




Step 13

o FastentheBOTTOM (D)totheRIGHTEND (A).
Tighten two HIDDEN CAMS.

These edges must be even.

Page 13



Step

o Fastenthe LEFTEND (B)tothe BOTTOM (D) and BACKS (G). Tighten
two HIDDEN CAMS and tighten four TWIST-LOCK® FASTENERS.

Open end

Page 14



Step 15

Insert four WOOD DOWELS (15F) into the ENDS (A and B).

Fastenthe TOP (C)tothe ENDS (AandB). Tightenfour
TWIST-LOCK®FASTENERS.

Qo Qo

NOTE: Besurethe WOOD DOWELS inthe ENDS insert
into the TOP.

Qo

Page 15



Step 10

Carefully turn your unitontoits top.

Fastenthe CORNERBRACKETS (31G)tothe BOTTOM (D).
Use eight BLACK 9/16" LARGE HEAD SCREWS (1S).

@

BLACK 9/16" LARGE HEAD SCREW
9 (8 used in this step)

Qo Qo

\/

=

g 31G
=
=~

Page 16



Step 17

Fastensix METALBRACKETS (4G) tothe
BASES (EandF). Usesix BLACK9/16"
LARGE HEAD SCREWS (1S).

Qo

NOTE: Be surethe BRACKETSareevenwiththeedges of
the BASES.

Qo

&

@ BLACK 9/16" LARGE HEAD SCREW
= @ (6 used in this step)

Page 17



Step12

Fasten SMALL BASES (F) tothe BOTTOM (D). Use eight
BLACK 9/16" LARGE HEAD SCREWS (1S) through the
CORNER BRACKETS onthe BOTTOM and into the holes
inthe SMALL BASES.

Qo

Fasten the BOTTOM (D) to the METAL BRACKETS on
the SMALL BASES (F). Use two BLACK 9/16" LARGE
HEAD SCREWS (1S).

@

BLACK9/16"LARGE HEAD SCREW
(10 used inthis step)

Qo

Page 12



Step 13

8 Fasten LARGE BASES (E) tothe BOTTOM (D). Use eight
BLACK 9/16" LARGE HEAD SCREWS (1S) through the > .
: Nowmightbea
CORNER BRACKETS onthe BOTTOM and into the holes .
. good time to refresh
intheLARGEBASES. your drink.
8 Fasten the BOTTOM (D) to the METAL BRACKETS on

the LARGE BASES (E). Use four BLACK 9/16" LARGE
HEAD SCREWS (1S).

@

BLACK9/16"LARGE HEAD SCREW
(12 usedinthis step)

Page 13



Stepl4

o Fastenthe BALLAST (J) tothe BOTTOM (D). Use four
BLACK 1-1/8" PAN HEAD SCREWS (9S).

@ (b

BLACK1-1/8"PANHEAD SCREW
(4 usedin this step)

Page 20



Step 15

. Fastenthe Z - LOCK BRACKET (77G) to the SMALL
DRAWER FRONT (K). Use two BLACK 9/16" LARGE
HEAD SCREWS (1S).

@

BLACK 9/16"LARGE HEAD SCREW

E;ﬁ§§§§§§§§i:;.————*""”————————— (2usedin this step)

Page 15



The tabs should insert freely
intothe slots. Gently tilt the
DRAWER SIDES side to side
until the tabs slip into the slots.

G roové

o Insertthe DRAWER SIDES (D550 and D551) atan
angleintotheslotateachendofthe SMALL
DRAWER FRONT (K).

2 Withthe palmofyour hand,
tap the DRAWER BOTTOM
downintothegroove.

Be sure the DRAWER
BOTTOMinsertsintothe

DRAWER FRONT groove.

o Slidethe DRAWERBOTTOM (D985) intothe grooves
inthe DRAWER SIDES (D550 and D551) and SMALL
DRAWER FRONT (K).

Hidden part using
recycled material.
Color may vary.

Surfacewith
HIDDEN CAM

Push one HIDDEN CAM (1F) into the DRAWER
BRACE (M67). Then, insertthe metalend ofa
CAMDOWEL (2F)intothe HIDDEN CAM.

o Fastenthe DRAWERBRACE (M67)tothe SMALL

a DRAWER FRONT (K). Tighten one HIDDEN CAM.
Page 22

Qo

4 Start each screw a few turns before
completely tightening any of them.

BLACK 1-9/16"FLATHEAD SCREW
(10usedinthisstep)

Be sure the
DRAWER
BOTTOM
inserts into
the DRAWER
BACK groove.

Fastenthe DRAWER BACK (D552) to the DRAWER
SIDES (D550 and D551) and DRAWER BRACE (M67).
Usefive BLACK 1-9/16" FLATHEAD SCREWS (30S).


http://qr.sauder.com/default.aspx?ID=2243

3 Repeat this step for the LARGE DRAWER FRONT
(H).

Page 23



Step24

Fastena LARGE FILE BRACKET (57G) to the SMALL DRAWER FRONT (K). Use two BLACK 9/16" LARGE
HEAD SCREWS (1S).

Qo

Fastenthe SMALLFILE BRACKET (11B)tothe DRAWERBACK (D552). Use two BROWN 7/16"LARGE
HEAD SCREWS (6S).

Repeat this step for the remaining drawer. ll H
(Iiwmm —@ BROWN 7/16" LARGEHEAD SCREW

(4 usedin this step)

BLACK 9/16"LARGE HEAD SCREW
(4 used in this step)
@

Qo

Qo

Page 24




Step 25

Insert a SLIDE CAM (10A) into the DRAWER SIDES (D550 and D551).

Fasten the EXTENSION SLIDES (35MC) to the DRAWER SIDES (D550 and D551). Use
four GOLD 5/16" FLAT HEAD SCREWS (3S) through holes #1 and #3.

Qo Qo

NOTE: Thescrewheadinthe CAMmustbevisible throughtheslottedholeinthe SLIDE.

Qo

Repeat this step for the remaining drawer.

a

Screwhead - turn CAMtoline up holesin
the SLIDES with holes in DRAWER SIDES

Open end

Drawer Slide
‘y/ GOLD 5/16" FLAT HEAD SCREW

(4 used for the SLIDES)
Center the screw in the oval hole.

Page 25



Step 26

o Fastenthe DRAWERACTUATORS (62G)tothe RIGHT
d  DRAWERSIDES (D550)asshown. UsesixBLACK1/2"FLAT
HEAD SCREWS (11S).

o FastenthePULLS (189K)tothe DRAWERFRONTS (HandK).
d  UsefourBLACK9/16"LARGEHEAD SCREWS (19).

Page 26

@

BLACK9/16"LARGE HEAD SCREW
(4 used in this step)

@D Do —(us)

BLACK 1/2" FLATHEAD SCREW
(6 used in this step)



Step 27

Press one of the FILE GLIDES (4B) over the RIGHT DRAWER SIDE (D550) on the drawer. The FILE GLIDES are necessary
tohangfiles.

Slidethe FILERODS (9B) throughaFILE BAR (14B)andintothe holesshowninthe SMALLFILEBRACKET (11B)and
LARGE FILE BRACKETS (57G), other FILE BAR (14B) and FILE GLIDE (6B) on the RIGHT DRAWER SIDE (D550).

SlideanotherFILEGLIDE (6B) ontothe otherendsofthe FILERODS (9B), thenpressthisFILEGLIDE overthe LEFT
DRAWER SIDE (D551).

Qo

Qo

Qo

Repeat this step for the remaining drawer.

Qo

Page 27



Step 20

Fastenthe LOCK PACK (21J)tothe LARGE

4 DRAWER FRONT (H) in the exact order shown. Itis fvou're doina thi
importanttobe surethe CAM pointsasshown Ifyou'redoing t S to
' ' helpafriend,don't
5 NOTE: Tumn the KEY clockwise to lock. leavewithoutabite.

Theprongs mustpressintothe LARGE
DRAWERFRONT asyoutightenthe NUT with
an adjustable wrench.

§‘< WASHER




Step 29

Carefully stand your unit upright.

Qo

Pull the lower wing of the INTERLOCK MECHANISM (34G) forward until it clicks into place as shown in diagram 1.

Toinsert the lower drawer into your unit, line up the EXTENSION SLIDES on the drawers with the EXTENSION RAILS on
the unitand push the drawer into the unit until the drawer itis fully inserted.

Qo Qo

NOTE: The lower DRAWER ACTUATOR will be near the top of the RIGHT DRAWER SIDE as shown in diagram 2.

Qo

Pull the upper wing of the INTERLOCK MECHANISM (34G) forward until it clicks into place as shown in diagram 3.

Insert the upper drawer by lining up the EXTENSION SLIDES on the upper drawer with the EXTENSION RAILS on the unit
as shown in diagram 4. Push the drawer in until itis fully inserted.

Pull the lower wing 2
forward until it clicks
into place.

Qo Qo

The Lower Drawer
ACTUATOR must
be here.

Pull the upper wing
forward until it clicks
into place.

Page 29



Step 22

To make adjustments to the drawer, loosen SCREW #3 in the SLIDES a 1/4 turn, then turn the cam clockwise or counter-

a clockwise. Notice how the drawer raises or lowers as you turn the cam. By adjusting the drawer this way, it will help the
DRAWER FRONT line up better when closed. Tighten the SCREWS when finished with adjustments.
g NOTE: Please read the back pages of the instruction booklet for important safety information.
3 This completes assembly. Clean with a damp cloth. Wipe dry.
Loosen screw #3 a 1/4 turn, turn the cam a /4 turn
maximum in both the clockwise and counter-clockwise
directions to make adjustments, and then tighten screw #3.
@ =0 B d—
/ /
The higher the screw in the oblong hole, Cam

the higher your drawer front will be. The
lower the screw, the lower the drawer front.

=P8,

Page 30



A CAUTION

Please use your furniture correctly and safely. Improper use can cause safety hazards,

or damage to your furniture or household items. Carefully read the following chart.

Lookoutfor:
« Overloaded file cabinet drawers.

Whatcanhappen:

« Risk of injury.
« Top-heavy furniture cantip over.
« Overloaded drawers can break.

How to avoid the problem:

« Never exceed the weight limits shown in
the instructions.

« Work from bottom to top when loading
drawers. Place the heavier items on lower
drawers.

« Improperly moving the file cabinet.

« Risk ofinjury or equipment damage.

« Thefilecabinetcantipifnotmoved
carefully over obstacles or across a
changing floor surface (for example, from a
wood floor to a carpeted floor).

« Lift the file cabinet so the casters clear
any obstacles or abrupt changes in the floor
surface.

« Placing TVs on furniture items that are not
designed to support a television is
hazardous.

« Risk of injury or death. TVs can be very
heavy. Plus the weight and location of the
picture tube tends to make TVs unbalanced
and prone to tipping forward.

« This product is not designed to support a
television.

Page 31



	1. 2.
	3.
	A
	D
	D
	K
	K
	K
	K
	H


